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Influence of ball size

Path of contact and mean normal forces between balls
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- Longitudinal sieving test sh (5 )y 4l gal

B Longitudinal sampling

~ 1 *Sample weight:

1-2kg 1 compartment
05kg 2% compartment

Question: How do you take a representative longitudinal samples?
Points to mention:

ventilation draft.

It s very important to dig  hole of 20 cm and start to take the sample 20 cm i the grinding media. Reason is that the top layer fine particles were take out with the mill

+The three sample taken at each mill cross section is done because the fineness is not homogeneous due the rotating movement of the ball milL

ATE

W commens [

? @B - x
signin [ @
# Find
24 Replace -
1% select~
ating ~
z
s





image5.png
—=Division 2600

—%—16.00 1
1
—=—8.00 20 : 720
1
1
—+—4.00 80 : —+ 2200
——238 70 : — ]
= \ + 2000
= 1 T
——1.00 © 60 HEE S
_g | T 1800
—=—050 'ﬁ : -
g 50 \
- \ + 1600
—— !
40 N\ 1 ]\-\t
1
e H + 1400 !
30 e 1
—+—0090 N\ T~ /
) 7\\'\\ \ 1200
1
——0.045 \\]\ \\\I‘ ™ \ —
" . \\"\0/; 1000
0032 . —
o 2 o = 800
S 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
[em2/g] Mill Length [m]

Fineness [cm?/g] Blaine





